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Sl. No.1
QBID:1555071

Identify the correct preposition to make a meaningful sentence.

The scheme of Pradhan Mantri Jan Dhan Yojna was originated
(1) in

(2) with

(3) for

(4) by

Faffad d 9 &9 W 9gad e el § 2
a &

(2) 9

3 H

@ d

1[Option ID=45001]

2[Option ID=45002]

3[Option ID=45003]
4[Option ID=45004]

the Prime Minister.

Sl. No.2
QBID:1555072

Identify the meaning of the underlined idiom from the options given.

Rajesh's brother gave him a bird's eye view of the courses offered in the Hansraj College .

(1) an objective view

(2) a detailed presentation

(3) an elaborate description

(4) a general view
froafafad & ¥ SH-97 Iss BRYr NI ST § 2
(1) EF, SHAN

() =15, R

(3) DRHL PRI

(4) DI, STH

1[Option ID=45045]
2[Option ID=45046]
3[Option ID=45047]
4[Option ID=45048]

Sl. No.3
QBID:1555073

Choose the correct option to make a meaningful sentence.

For the last seven months I in this company.
(1) am working

(2) has been working

(3) have been working

(4) have worked

(1) FUIPRD
) FHPRS
(3) HUGH DRD
(4) JEIGHPRD
1[Option ID=45073]
2[Option ID=45074]

3[Option ID=45075]
4[Option ID=45076]

A & o1 =0 9 {35t avg & 1@ 1F &1 HTd Ve Bidl & 99 HIH-91 PR Pad g 2

Sl. No.4




QBID:1555074
Identify synonym for the underlined word in the sentence.

Rabindranath Tagore had penchant for reading books.

(1) liking

(2) strength
(3) inclination
(4) desire

:ﬂaamﬁq@%‘:@3{&@?-!—*[(AssertionA)%Wﬁﬁ@ﬂ%?ﬁmmm{ReasonR)%Wﬁ:
il A - Topar ARy sifdapRl =2 © |
PRUIR : G H YOHT H- & 918 T a1iaRIvor &1 &9 95d ofidl g |

SIRIFd HUH & aie 5, i feu 1y fowed! § 9 w8t SR @1 gqg oifom -
(1) ARREH AT IR R. AP TEI RS ®

(2) ASRRSH U g, A R, A D JgI TS Tol ©

() AR, APTR ITAR

4) AT, AR AR

1[Option ID=45077]
2[Option ID=45078]
3[Option ID=45079]
4[Option ID=45080]

Sl. No.5
QBID:1555075

Find correctly spelt word form the options given below (only one word is spelt correctly)
(1) Abatoir

(2) Apiary

(3) Aviay

(4) Archves

YaI-1 % 1Y YAI-11 BT e SHifery -

A1 T
@) [Sililial i)
A |eRTg L&t
B. [3@d I |®&FA
C. |fgeg Il |3gey
D. [T v |3

A feu e fawedl & € U6t SR @1 98- P -
(1) A-IV, B-III C-I. D-II

(2) A-IL B-III. C-IV, D-1

(3) A-L B-II, C-III, D-IV

(4) A-IL B-IV. C-1I1I, D-1

1[Option ID=45081]

2[Option ID=45082]

3[Option ID=45083]
4[Option ID=45084]

Sl. No.6
QBID:1555076

Identify the correct active voice for the sentence given below :

When were my shirts returned by Ajay ?
(1) When Ajay returned my shirts ?
(2) When will Ajay returned my shirts ?
(3) When is Ajay return my shirts ?

(4) When did Ajay return my shirts ?



:ﬁaaﬁ'mﬁqﬂa%:@WW(ASSﬁHiOHA)%Wﬁﬁ@H%FﬁWWW{ReasonR)a?_Fqﬁ:
HHUF A FaRT Figr &1 arerd & [l gad aofda of uR1 3§ Wigas fGaR @)
BRUIR : 39 TR BT G R EHT |

TR DY & el H, i faU 74 fadedi T § |1 3R P 914 Sife —
(1) AJRREH AT IR R. AP TEI RSN ®

(2) ASRRSH U g, A R, A D JgI TS Tol ©

() AR, APTR ITAR

(4) AT, AR AR

1[Option ID=45085]
2[Option ID=45086]
3[Option ID=45087]
4[Option ID=45088]

Sl. No.7
QBID:1555077

Identify the correct direct speech for the sentence given below :

Farhann told Ashok that Taj Mahal is the Seventh Wonder of the World.

(1) Farhaan suggested to Ashok, "Taj Mahal is the Seventh Wonder of the World".
(2) Farhaan said to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(3) Farhaan tells to Ashok, "Taj Mahal is the Seventh Wonder of the World".

(4) Farhaan says to Ashok, "Taj Mahal is the Seventh Wonder of the World".

fPrafifad & § .o g o g 2 o
(1) HPRI -
(2) SHRIN - Uy
(3) PRI -dY
(4) FHBDRI - HIJ

1[Option ID=45089]
2[Option ID=45090]
3[Option ID=45091]
4[Option ID=45092]

Sl. No.8
QBID:1555078

Choose the correct order of the paragraph to create a meaning out of PQRS set :
To explain

P : that there are no opposites.

Q : forms required looking at the second

R : approach to opposites in the theory of forms

S : how Plato can deny the existence of some
(1) QPSR
(2) PQSR
(3) RSQP
(4) SQRP

YEil-1 % 1Y FI-11 BT B Bifory -

1 Tl 11
A |fodr ¥ gs "ut 1 |[G9®
B. |foMidh UR ¢l &I Udh LT
C. [Siggdarg sl sl e
D. |f&i &1d &l B3 & ool g T | IV. [aiRsfHe
1= fRu Y fas el § T 91 STk &1 90 Sifor -

(1) A-IV.B-III C-II. D-I
(2) A-IL B-IV. C-I. D-II
(3) A-IL B-L. C-IV. D-IIT




(4) A-L B-III C-IL. D-IV

1[Option ID=45093]
2[Option ID=45094]
3[Option ID=45095]
4[Option ID=45096]

Sl. No.9
QBID:1555079

Choose the correct sentence.
(1) She ate her breakfast, had a shower, and goes to school.

(2) She ate her breakfast, had a shower. and gone to school.

(3) She ate her breakfast, had a shower, and went to school.

(4) She ate her breakfast, had a shower. and was going for school.
fafafad & 9 geu aigg Rifgd oifon -

(1) GBI RS: ST FRIG |

(2 GEI A B: SFTAM GG |

@) I HT: SMAATCE |

4) QR HE: SFAF NG |

1[Option ID=45097]

2[Option ID=45098]

3[Option ID=45099]
4[Option ID=45100]

Sl. No.10
QBID:15550710

Find out which part of the following sentence has an error.
(1) Harsha told to the housekeeper

(2) that he should not
(3) Come for work
(4) from tomorrow

Faffead e T= 6 -

A
B. 3effarg
C. 3wad
D. IHBR
E. SaltEt
=g fgu e fooedl & 4 Ul IOk &1 994 it :
(1) C.D3RE
(2) B.C 3RE
(3) C.D.E3RA
(@) A.B3IRC
1[Option ID=45005]
2[Option ID=45006]

3[Option ID=45007]
4[Option ID=45008]

Sl. No.11
QBID:15550711

Who built the famous Shiva Temple at Ellora 7

(1) Chalukya King Pulikeshi II

(2) Gupta King Samudragupta

(3) Mauryan Emperor Ashoka

(4) Rashtrakuta Ruler Krishna I

514 9 bt waRT H Rig-#feR o1 fmiur sxar 2
(1) T NP JAHI 11

(2) TS T

(3) T gy =i

(4) FDC ARD P

1[Option ID=45009]




2[Option ID=45010]
3[Option ID=45011]
4[Option ID=45012]

Sl. No.12
QBID:15550712

The origin of Indian music can be traced to which of the following Vedic Samhitas ?

(1) Atharvaveda
(2) Yajurveda
(3) Samaveda
(4) Rigveda

YR Tt @1 3o fgifed fra afee dRardgans -
(1) spyddg
@) T9dg
(3) gHde
(4) Bdg

1[Option ID=45013]
2[Option ID=45014]
3[Option ID=45015]
4[Option ID=45016]

Sl. No.13
QBID:15550713
Buddhism made an important impact by allowing which of the following hitherto marginalized sections of society into its fold ?

A, Women
B. Warriors
C. Merchants
D. Shudras
Choose the correct answer from the options given below :
(1) Aonly
(2) AandD only
(3) Aand C only
(4) D only

Syt - 9AS & gIRIU R U3 aiied fod aif &1 oo et I 21fid $% 89 IR Us Hg@yqul UHTd SIal 2

A gfgararf
B. UigT
C. IR &
D. q5

e fqu 1w fasedt # ¥ ToW 3UgEd IR BN TIT HISIT -

(1) FHdd A
(2) HIAASRD
©3) Fag AR C
(4) FHad D

1[Option ID=45017]
2[Option ID=45018]
3[Option ID=45019]
4[Option ID=45020]

Sl. No.14
QBID:15550714

President of India is empowered to make which of the following appointments ?

A. Chief of the Army

B. Speaker of the Lok Sabha
C. Chief Justice of India

D. Chief of the Air Force

Choose the correct answer from the options given below :
(1) A.Band D only

(2) AandD only
(3) Aand C only




(4) A, CandD only

Fafaa | 9 - o1 Fyfeadl & R HRa & Iyl o aeeida urd @ 2

A FTTUHE
B. TGO Hemef

C. HRd & T g

D. a1g 7 UHE

Hid feu T fawredl 5 U Ul 3ok &1 99 BIfoll :
(1) FAAA. B 3R D

(2) HIAAIRD

(3) FaAAIRC

(4) PATA, C 3R D

1[Option ID=45021]
2[Option ID=45022]
3[Option ID=45023]
4[Option ID=45024]

Sl. No.15
QBID:15550715

Which of the following statements are correct about Swachh Bharat Mission - Urban ?

A Tt has an outlay of 1.41 Lakh crore and will be implemented over 5 years.
B. The nodal Ministry is Ministry of Housing and Urban Affairs.
C. SBM-U phase 2 was launched by Hardeep Singh Puri.

D. SBM was launched on 2% October 2014.

Choose the correct answer from the options given below :
(1) A.BandD only

(2) AandB only

(3) AandD only

(4) A.B.Cand D only

s YRA-HH wed & aR 3§ FEfRfed s I sua 98§ 0

A TIHT Y 1.41 TG BRS¢ 3R 3T 5 991 § fopant=aq far s |
B. SU®T A5d HATTY."{TAN 3R e &1 U6 R 5aea" 8 |
C.TH.H.TH.- 4 B 2 &< e O3 gRTURY forar mar o |

D. TH.dIUH. 2 3aCaR 2014 BIYRY 3T AT |

e BT 71T G@weat # & WEN 3 &7 949 ST
(1) PIAA, B3R D

(2) FIAAIRB

(3) FHIAASRD

(4) HTAA.B.C 3IRD

1[Option ID=45025]
2[Option ID=45026]
3[Option ID=45027]
4[Option ID=45028]

Sl. No.16
QBID:15550716

In a certain code language.

"book pen mouse computer” is coded as "er gh 1u cv"
"keypad pen book bottle" is coded as "gn ty iu k1"

"computer pen bottle paper” is coded as "cv kl 1o gh"

Which of the following code is used for "pen"



(1) gh
(2) m
(3) ov
(4) 10

T f[aRIY He U |
"book pen mouse computer” PIHC 8- "er gh iuev".
"keypad pen book bottle” PTHC % - "egn ty i kl"

"computer pen bottle paper” PTDHC T -"evklio gh".

"pen"%ﬁ’[{ﬁmﬁﬁﬁﬁﬁ Wﬁa

(1) gh
(2)
(3) cv
4) io
1[Option ID=45029]
2[Option ID=45030]

3[Option ID=45031]
4[Option ID=45032]

Sl. No.17
QBID:15550717

In a certain code language.

'Attend class daily good' is written as 9$5. 24%9. 336, 24%3
Begin great any matter' is written as 3 & 3. 839, 10*15, 14%4
'Less error and fire' is written as 10$7. 23%8. 9%14, 24&3
'"Tool better than screw’ is written as 16%22, 5%$21. 10%4, 14%22

According to the given code what will be the code for the word Burst' ?
(1) 834
(2) 632
(3) 832
(4) 684

o f[aQy g U |

'Attend class daily good' Pl 935, 24%9, 356, 24*3 fera GﬂﬂT%
'Begin great any matter’ P13 & 3. 889, 10*15, 14%4 @1 o §
"Less error and fire' @1 1087, 23%8. 0%14. 24&3 ﬁ"l@TW%

"Tool better than screw’ @1 16%22, 5521, 104, 14%22 TG IE |

TR faU T Hel & STUR Usg Burst' BT He T 2
(1) 8%4

(2) 6%2

(3) 832

(4) 6#4

1[Option ID=45033]

2[Option ID=45034]

3[Option ID=45035]
4[Option ID=45036]

Sl. No.18
QBID:15550718

If the symbol '+' means '~ and "*' means /" and vice versa then, what would be the value of following equation ?

4%2/4-2+3
1) 7
(2) 3
3) -8
(4) 10



A Hepel =+ 1 212 § 3R+ BT o ' € SR 1 fAuRia i 710 € o FrafTRa SefiepRon o1 7 < € 2

4%2/4-2+3
1 7

(2) 3

3) -8

(4) 10

1[Option ID=45037]
2[Option ID=45038]

3[Option ID=45039]
4[Option ID=45040]

Sl. No.19
QBID:15550719

If V plays first. which one of the following must be true ?

A, T perform sixth.

B. X perform third.

C. Z perform seventh.

D. T perform immediately after Y.
E. W perform immediately after X.

(1) C and E are correct.
(2) DandE

(3) A and B are correct
(4) C and D are correct

7 v T 5 TR adl § al FEfrad 3 8 $H-9 9P 99 e 2
A T64 PH R UK AT |

B. X TRR FA R IR SAT |

C.Z gad HH R UK Sars |

D.Y & Q%0 916 T W &1 § |

E. X & qxd a1 W Efd a1 e |

14 R e faw el 7 9 Tet SR &1 997 B -

(1) cARETET

@ DIRE

(3) ASRBIE®
(4 cIRDIER

1[Option ID=45041]
2[Option ID=45042]
3[Option ID=45043]
4[Option ID=45044]

Sl. No.20
QBID:15550720

After walking for 6 km. Aradhana turns to the right and then walks 2 km. After that she turns to the left and walks 10 km. In the end,
Aradhana is moving towards the North. From which direction did Aradhana start her journey ?

(1) North

(2) South

(3) East

(4) West

6 Sl =ra & a1, SRIYAT e g9t 3iR 2 el et | 59 a1 98 91 g3t 3R 10 fel =t | o H ST SR R H =
TR | SRTYAT T 3o A fr feRn S = @t ot 2

(1) IW
) fgur
(3) Y2d
(4) ufgmg

1[Option ID=45049]
2[Option ID=45050]
3[Option ID=45051]
4[Option ID=45052]

Sl. No.21



QBID:15550721
In how many ways, a committee of 6 members be selected from 7 men and 5 women, consisting of 4 men and 2 women ?
(1) 200
(2) 150
(3) 350
(4) 450
7 =91 T4 5 Afgarstt # § ¢ Gy 9ty o1 99 fras veR ¥ faar o Jaar &, o 4 7w ud 2 afgert e st
(1) 200
(2) 150
(3) 350
(4) 450
1[Option ID=45053]
2[Option ID=45054]

3[Option ID=45055]
4[Option ID=45056]

Sl. No.22
QBID:15550722

A cone and a sphere have equal radii and equal volumes. Find the ratio of the diameter of the sphere to the height of the cone?
(1) 1:4

(2) 1:2

3) 4:1

(4) 2:1

TP P 3R TP T $I 5501 T4 S0 GHF © | 1 710 & o BT T DI SdTs o ST a1 81 7
(1) 1:4

(2) 1:2

3) 41

(4) 2:1

1[Option ID=45057]

2[Option ID=45058]

3[Option ID=45059]
4[Option ID=45060]

Sl. No.23
QBID:15550723

A sum of money doubles itself at compound interest in 15 years. In how many years will it, become eight times ?
(1) 15 years
(2) 30 years
(3) 40 years

(4) 45 years

Dls YR Thglg oIS Bl &R Y 15 a9 H QR &l Sildl ¢ | e aul & I8 3118 11 8\ 2
@ 159y

@) 30q9

(3 40 T4

@ 45T

1[Option ID=45061]
2[Option ID=45062]
3[Option ID=45063]
4[Option ID=45064]

Sl. No.24

QBID:15550724

What is the probability of getting a sum 9 from two throws of a dice ?
1 1

(1) o

(2)

| =

3)

| = o=

(4) 6

Tt U BT &1 IR o T T 9 U B3 &1 WifdddT fhaAl © 2

1

12

(1)
(2)



(3)

— O |

4) —

o

1[Option ID=45065]
2[Option ID=45066]
3[Option ID=45067]
4[Option ID=45068]

Sl. No.25
QBID:15550725

If the equation 2x?+3x+ p =0 has equal roots, then the value of p is
1) 7/8

(2) 1/8

(3) &89

(4) 9/8

& TGN 222 + 33+ p =0 BT HAH T &, Al p BT A a1 5T 2
1) 7/8

(2) 1/8

(3) &89

(4) 9/8

1[Option ID=45069]

2[Option ID=45070]

3[Option ID=45071]
4[Option ID=45072]

Sl. No.26
QBID:151504831

1000 grains weight of wheat ranges between  grams.
(1) 20-30

(2) 20-70

(3) 120-220

(4) 35-50

REE VDR (K7 - g—— o1 B B
(1) 20-30

(2) 20-70

(3) 120 - 220

(4) 35-50

1[Option ID=44701]

2[Option ID=44702]

3[Option ID=44703]
4[Option ID=44704]

Sl. No.27
QBID:151504832

Who is known as father of tillage?
(1) O.P. Gautam

(2) Jethra Tuer

(3) Liebig

(4) J.B. Laws

T € B BT (aTs) & oS o Wl 67
(1) =i O, Ty

(2) =i &R

(3) wmsfam

(4) = & 9w

1[Option ID=44745]

2[Option ID=44746]

3[Option ID=44747]
4[Option ID=44748]

Sl. No.28
QBID:151504833



Match List I with respective critical stage of irrigation of crops List II

LISTI LISTII
A |Wheat L Pa_n_ml_e
initiation
B. |Groundnut II. |Silking
C. |Rice III.  |Pegging
D. [|Maize 1y |Crown root
initiation

Choose the correct answer from the options given below:
(1) A-IL B-I. C-III. D-IV
(2) A-IIL B-1V, C-I1, D-1
(3) A-IV. B-IIL C-1I1, D-1
(4) A-IV. B-III. C-I. D-II

T 1 & Y g 11 1 e S

waa B REE ge= mie ammn

-1 -1

A g 1. T URRHE
B. Hweht 1. fafesn

C. 9 111, 9Fm

D. 75 IV, ®137 o8 IRAE

= oy T Geeal # 9 98 9% #1994 S
(1) A-II, B-I, C-III, D-IV

(2) A-III, B-IV, C-II. D-I

(3) A-IV, B-II. C-III. D-I

(4) A-IV, B-III. C-I. D-II

1[Option ID=44789]

2[Option ID=44790]

3[Option ID=44791]
4[Option ID=44792]

Sl. No.29
QBID:151504834

Arrange these crops in decreasing order of their crop duration under same agro-climatic conditions.
A, Cotton

Sugarcane

Rice

Greengram

. Pearl millet

Choose the correct answer from the options given below:

1) A.C.B.E.D

(2) B.A.C.E.D

3) B.C.E.D.A

4) A.B.E.C.D
3 T B 9AM $Y woarg Ryl # 3991 Bua 999ad $ 9ed %9 § Sareyd Sl

MY oW

A HUH
B. =
C. 9@
D.gu=
E. s

2 fog g Fedl § @ wd o 51 9T SR
1) A C.B.E,D
(2) B.A.C.E.D
3) B.C.E.D. A
4) A.B.E.C.D
1[Option ID=44833]
2[Option ID=44834]

3[Option ID=44835]
4[Option ID=44836]




Sl. No.30
QBID:151504835

Given below are two statements:

Statement I: Orobanche (Broomrape) is a total-root parasitic weed in rapeseed mustard.
Statement IT: Striga (witch weed) is a total stem-parasitic weed of sorghum.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I is correct but Statement II is incorrect.

(4) Statement I is incorrect but Statement IT is correct.

4 drwyE g B

HUF | RSS! ) dria TeE § So/aweiits \aar B

w11 - e ([fefde) W8 &1 $o 41 weid! Saa ol

TS FYA & 0 H, A 30 T 9ol #§ § 9e9 Jugsd 9 & 9g Sl

(1) TAIMRI I T8 2

(2) BT R 11 <Hf e &

(3) U] FE B, At BuA 11 e &

(4) FYF] G & AFT S 11 98 &

1[Option ID=44877]
2[Option ID=44878]
3[Option ID=44879]
4[Option ID=44880]

Sl. No.31
QBID:151504836

Match List I with respective critical stage of irrigation of crops List II

LISTI LISTII

A |Btoswaies I W ater used in production of
Agricultural products

B. | Virtual water 1L Domes?ic SENERLEL
Industrial Waste

C |Black water L Soil moisture and water
present in plants

D | Gresn Wit v Wa‘rer present in sea, lakes,
rivers etc.

Choose the correct answer from the options given below:
(1) A-I B-IIIL C-IV. D-II
(2) A-IL B-IV. C-1I1, D-1
(3) A-IV. B-I. C-II. D-III
(4) A-IV. B-I. C-III. D-II

A 1 & Y = 11 =1 e S

11 111

A. e 9t L. T FiY SEIE ¥ I@eT § SR Y 921 3
B. ®ftad ot I1. O] SURE R sigifis sy

C. S a II1. He1 =it e qieff & Sufyd wa

D. 50 UMl IV. 99z, dia, 3¢t & sufd o

19 feu Ty el # 9 951 SR &1 999 S
(1) A-I, B-III. C-IV, D-II

(2) A-II. B-IV, C-III. D-I

(3) A-IV, B-I. C-II. D-III

(4) A-IV,B-L C-III, D-II

1[Option ID=44921]

2[Option ID=44922]

3[Option ID=44923]
4[Option ID=44924]

Sl. No.32
QBID:151504837

Which of the following mechanisms do not encourage cross pollination?
(1) Male sterility
(2) Self-incompatibility

(3) Dioecism



(4) Chasmogamy

Tt 4 9 ==-9 ufbar Se W S g T8 ean
(1) =X §@@ar

(2) = agmgan

(3) TS

(4) I W

1[Option ID=44965]

2[Option ID=44966]

3[Option ID=44967]
4[Option ID=44968]

Sl. No.33
QBID:151504838

A plant with somatic chromosome number of 2n + 3 (AA BB CCCCC) is known as:
(1) Septasomic

(2) Hexasomic

(3) Pentasomic

(4) Tetrasomic

TF UIGY 20 + 3 (36 79 GHEG) HIUF NG GO & 91 el 5-
1) ¥ F1H

(2) ¥ F0=

(3) 9 Tw

(4) TEFIES

1[Option ID=44993]

2[Option ID=44994]

3[Option ID=44995]
4[Option ID=44996]

Sl. No.34
QBID:151504839

Which one of the following breeding approaches can be used for transfer of desirable successive gene in otherwise good variety?
(1) Backcross method

(2) Pedigree method

(3) Bulk method

(4) Single seed discount method

Fraftfea & 9 @ womm Y 21 aistE anvrd o i § o= STefAE & fg wam & o @ S 2
(1) Wl Hat e fafy

(2) dmmEel ueHA

(3) AW WA &l

(4) wHq diw 47 faf

1[Option ID=44997]

2[Option ID=44998]

3[Option ID=44999]
4[Option ID=45000]

Sl. No.35
QBID:1515048310

The development of embryo from egg cell without fertilization is referred as:
(1) Apogamy

(2) Apospory

(3) Parthenogenesis

(4) Androgamy

o e & ovsay ¥ YU & a6 S Hel wil o-

(1) UgHA

(2) UstemIE

(3) FEEwA

(4) TgrE

1[Option ID=44705]
2[Option ID=44706]
3[Option ID=44707]
4[Option ID=44708]

Sl. No.36
QBID:1515048311




Read the statements below on consequences of inbreeding and choose the correct statement.
A. Variability reduced significantly within family.

B. Increase in homozygous individuals

C. Decrease in heterozygous individuals

D. Selection within family will be effective

E. Recessive genes will be marked by dominical counterpart.

Choose the correct answer from the options given below:

(1) ABandC
(2) AABandD
3) B.CandD
(4) C.Dand E
3d-wa=A & il W FAmfafad ol @1 ufeu 9 96t faeed iUl

A. TF € T0 F o iy are w9 9 79 el 21
B. 99Ol Tes | Sgiadl 21

C. fuage tee &9 81 B

D. U5 8 30 & faria g yurdl g 21

E. IuTdl Oice g1 SHuTE] =T 9= 6 S

2 fau U fgsedi # 9 999 SUgE SR $1 994 Sifagl
(1) A.B.3C

(2) A.BTD

3) B.CTD

(4) C.DAE

1[Option ID=44709]

2[Option ID=44710]

3[Option ID=44711]
4[Option ID=44712]

Sl. No.37
QBID:1515048312

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: After DNA replication. a new double helix consisted of one old strand and other is newly synthesized strand.
Reason R: DNA replication is both conservative and semi-conservative types.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both A and R are true and R is the correct explanation of A.

(2) Both A and R are true but R is not the correct explanation of A.

(3) Ais true but R is false.

(4) Ais false but R is true.

A9 &1 HY AU L B, U MDY (Assertion A) & U ¥ [A1Rgd & 1 GHRT IHD BRY[ (Reason R) & = T,

HYT A: DN.A. WAPdia & €12, U F91 =id $Sia-] U UIEH $Sia-] a U Fd=ad GRaiivd Ssier 3 e sar gl
HRUIR: D.N.A. Wiapdias Wiy 7 sefRféa aH /oR o181

SWIgd HUF P Halld §, 14 QU 1Y fdwedl & 9 981 SR &1 994 D]

(1) AJRREH 9@ IRR, A # 98 ren B
(2) AJRREH TUE ARR, A & 95 oo T8
(3) ATUZ AR swT T

(4) AT HfFIR ST E

1[Option ID=44713]
2[Option ID=44714]
3[Option ID=44715]
4[Option ID=44716]

Sl. No.38
QBID:1515048313

Given below are two statements:

Statement I: Taichung Native 1 is the first dwarf variety of rice developed by crossing.

Statement IT: TR-8 is the first dwarf rice hybrid released for cultivation.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement IT are true.

(2) Both Statement I and Statement IT are false.

(3) Statement I is true but Statement I 1s false.

(4) Statement I is false but Statement 1T is true.



= g fag mm B

FUA | : BIEgT Aed-1' TS0 G @A S T3 A A [ 2

BYA 11 ; 183§ HTV & [T 918 715 o W =g 1 e ¢
JIad FYF & @S 8, = 0 T e § ¥ 98 9 &1 994 S|
(1) U] AR SHi o 7

(2) U1 AR SHf T &

(3) RAITE METFH I a2

(4) FUT] IO g AieT S [l 9 7

1[Option ID=44717]
2[Option ID=44718]
3[Option ID=44719]
4[Option ID=44720]

Sl. No.39
QBID:1515048314

Consider the following statements in reference to cross pollinated crops.

A. Inbred lines based single cross hybrid is homozygous and homogeneous.

B. Inbred lines based single cross hybrid is heterozygous and homogeneous

C. Composites are heterozygous and heterogeneous

D. General combining ability (GCA) of the component lines are tested in composite variety development.
E. General combining ability of the component lines are tested for development of synthetic cultivar
Choose the correct answer from the options given below:

(1) A, CandD only
(2) A.D andE only
(3) B. CandE only
(4) A Eand E only

Traferiaa ol ®1 wdwa © gud § ae &)

A. 3T UTT GEHH T SUTNG UHd H19 963 SHgHe 9 9Hamd ol

B. 3/d: USd 9EHH W HINTNG Uha ®19 96 [quAge d SAed o

C. Ty @wifoes) fvrgmet g s ek 2

D. fiiféa venfa Iene- & Ee dusa S 9me By amar G wEt o 2

E. @ 9% % &1 GG B emar Swaia i & e & fog wa! o 21

- oy Ty fAeet H 9 we9 SugEd SR @1 909 S
(1) H9TA. C9D
(2) ¥3aB.DTE
(3) $90B.CTE
(4) ¥ A DTE

1[Option ID=44721]
2[Option ID=44722]
3[Option ID=44723]
4[Option ID=44724]

Sl. No.40
QBID:1515048315

How many kinds of genotypes are possible in F,. if four genes are segregating independently.
(1) 243

(2) 81

(3) 27

4 9

F, # féoe ¥R % Si0ed §90 & R IR o0 W Sieded $2 36 6

(1) 243

(2) 81

(3) 27

4) 9

1[Option ID=44725]
2[Option ID=44726]

3[Option ID=44727]
4[Option ID=44728]

Sl. No.41
QBID:1515048316




Match List I with List IT

LISTI LISTIT
A et I Chromosome without
centromene

Centromene localized
B. |Acrocentric II. lapproximately in mid-Way of
a chromosome.

Centromene placed to an arm
C. |Telocentric I1I. |close to one end of the
chromosome

Centromene at the very end of

B |t o the chromosome

Choose the correct answer from the options given below:
(1) A-II B-IV. C-1. D-III
(2) A-IV, B-IIL C-1. D-III
(3) A-IL B-IIIL C-IV. D-II
(4) A-IL B-III. C-IV, D-1

T 1 % =Y I 11 %1 o i

-1 A1

A, AEEE L. &% & {81 TuRE

B. saal 11. &% TFTHT URA & A e Bl

C. Tt 111. &% U &1 UF Yol & 3id & 94 81
D. E=ii IV. &% TURE & oo fd 3

19 feu Ty AEcdl # § 951 ST &1 994 Siug|
(1) A-II. B-IV, C-I. D-III

(2) A-IV, B-II. C-I. D-III

(3) A-I B-III. C-IV. D-I

(4) A-II B-IIIL C-IV, D-I

1[Option ID=44729]

2[Option ID=44730]

3[Option ID=44731]
4[Option ID=44732]

Sl. No.42
QBID:1515048317

Given below are two statements:

Statement I: Soluble sources of Ca are gypsum and phosphogypsum.
Statement II: Gypsum is used for reclamation of sodic soil.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement I is correct but Statement II is incorrect.

(4) Statement I is incorrect but Statement II is correct.

= S FyA iy B

FYA ] : Ca & oo™ Faa forem oik wrew oy 2

w11 ; form &1 v @it ge1 & Yyt Sen & fear omar 21

IWIF BYF & MalS 8, 7 QU U el # 3 981 IR &1 994 *ifen|

(1) TF] AR A TT §
(2) T AR SHf oE &
(3) T TAE AFTFUA Il smT &
(4) ] g g AT R I 9T 8

1[Option ID=44733]
2[Option ID=44734]
3[Option ID=44735]
4[Option ID=44736]

Sl. No.43
QBID:1515048318



Select the correct group of statements.

A. Hygroscopic water is mostly non liquid.

B. Free energy is also called potential energy.

C. Coarse textured soils have higher saturated conductivity.
D. Soils with high permeability will allow much run-off.
E. Excessive tillage increase infiltration.

Choose the correct answer from the options given below:
(1) A.B.C.D

2 B.C.D.E

3) C.D.E.A

4) D.E.A.B

ol FYF g T 999 S|

A. ST AE OF SUTETaR 3gd gidl 2

B. Had Suil @i feufera Surt ot FEd 21

C. = o 7a1 1 % Jga Taea gl o

D. Ha1 foua! URarIaT wa1eT 2l 2, 9% 1l aTF 3 &l 2l
E. g sia: e 1 gg1 &di 21

i feu Ty Aeedl # & 98 3T &1 994 Sien|
(1) A.B.C.D

(2) B.C.D.E

3) C.D.E.A

4) DE.A.B

1[Option ID=44737]

2[Option ID=44738]

3[Option ID=44739]
4[Option ID=44740]

Sl. No.44
QBID:1515048319

Reagents required for determination of soil organic matter in laboratory.
A. Potassium dichromate

B. Ferrous ammonium sulphate

C. Saffranine

D. Diphenyl amine

E. Sulphuric acid

Choose the correct answer from the options given below:

(1) A.B.C.D
2) B.C.D.E
3) A.C.D.E
(4) A.B.D.C

TErTRITT # HaT F et gerd F1 HyR F3 9 sifteRs 9 9 &

A. Uil sESEe
B. %= sHifaw Gehe
C. A

D. kAT UHE

E. 90si® 3w

#2 for o fomedt © © wEl SR &1 994 Hifen|
(1) AB.C.D

(2) B.C.D.,E

3) A.C.D.E

(4) A.B.D.C

1[Option ID=44741]

2[Option ID=44742]

3[Option ID=44743]
4[Option ID=44744]

Sl. No.45
QBID:1515048320

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: The colloidal surfaces of humus are negatively charged.

Reason R: The negative charges arise from exposed functional groups like hydroxyl. carboxylic or phenolic.
In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both A and R are frue and R 1s the correct explanation of A.



(2) Both A and R are true but R is not the correct explanation of A.
(3) Ais true but R is false.
(4) A s false but R 1s true.

% <1 7o fGu T B, vF iy (Assertion A) F =1 § ¥[8 § O g9 59% $RU (Reason R) F =0 H,
HUFYT A: TIFE F FIOSS! IAE T BUTEHS A1 BT 2

HRO R: FUEAS G H1 I&d HaNd Terids 90 J el ¢ - 09 - egliedd saiadis, i
I YA F S 1, A4 6T T Gwedt § 9 98 S #1904 S

(1) ASRREF T@E IRR. A FI W TR
(2) A FRREH 9T E ARR, A F1 T¢I ogrem T8 &
(3) ANO R AR o0@ &

(4) AT ERFTRTTE

1[Option ID=44749]
2[Option ID=44750]
3[Option ID=44751]
4[Option ID=44752]

Sl. No.46
QBID:1515048321

Which one of the following is aerobic asymbiotic N,-fixing bacteria?
(1) Rhizobium

(2) Frankia

(3) Clostridium

(4) Azotobactor

Frafafead & § S1-1 argefidl sRgeidl N, $1 SIdieon 1 are Siary g2

1) TwrEEA
(2) &

(3) wiisas
(4) TEEETET

1[Option ID=44753]
2[Option ID=44754]
3[Option ID=44755]
4[Option ID=44756]

Sl. No.47
QBID:1515048322

Study of soil in relation to growth and development of plant is known as:
(1) Pedology

(2) Morphology

(3) Edaphology

(4) Soil genesis

UeT & i U G & e § gaT 3 e &1 Fel @l 6-
(1) oSy

(2) AT

(3) TSHEIS

(4) HEd e

1[Option ID=44757]

2[Option ID=44758]

3[Option ID=44759]
4[Option ID=44760]

Sl. No.48
QBID:1515048323

Volatile substance emitted by the ripening fruits is known as:
(1) Leinetin

(2) Ethylene

(3) Adenine

(4) ABA

Gl B TSI WHY ARl da SN B B 9F a9 B SEd -
(1) R

(2) suRRE

(3) uiEd=

(4) udiyg

1[Option ID=44761]



2[Option ID=44762]
3[Option ID=44763]
4[Option ID=44764]

Sl. No.49
QBID:1515048324

Match List T with List IT

LISTI LIST II
A. |Ribosomes I. |Power house of cell
B. |Peroxisomes II. | Photorespiration
C. |Mitochondria II. |Cell wall
D. |Golgi-bodies IV. | Protein synthesis

Choose the correct answer from the options given below:
(1) A-IL B-III. C-IV, D-1
(2) A-IL B-II. C-IV D-I
(3) A-IV, B-III C-I, D-II
(4) A-IV, B-IIL C-1. D-III

I & Y I 1T # e S

-1 T-11

A, TEEEH 1. FifEET &1 WfEge
B. Wafixiam I1. 7Tl a9

C. ArsgrEIsa I11. =i ik

D. e &1 IV, S S

- oy U et § 9 951 SR #1999 Sl
(1) A-II, B-IIL, C-IV, D-I

(2) A-II, B-IL C-IV, D-1

3) A-IV, B-III. C-L. D-II

(4) A-IV, B-IL C-1. D-III

1[Option ID=44765]

2[Option ID=44766]

3[Option ID=44767]
4[Option ID=44768]

Sl. No.50
QBID:1515048325

In C,4 plants. the first stable product of photosynthesis is:
(1) Phosphoenolpyruvate

(2) Oxaloacetate

(3) Phosphoglyceric acid

(4) Ribulose

C,, Tell & TepTEiTay o R 3 B

(1) FTEFEATT TEeEe
(2) sitsdRee

(3) FERFEENE 3
(4) TEFE
1[Option ID=44769]
2[Option ID=44770]

3[Option ID=44771]
4[Option ID=44772]

Sl. No.51
QBID:1515048326

One molecule of glucose after respiration produces:
(1) §CO,+ 8 H,0 + 34 ATP
(2) 6CO; +8H,0+38ATP
(3) 6CO,+ GH,O + 38 ATP
(4) 6CO;+6H,0+34ATP
YT F TS [F ] TS Sl &
(1) 8CO, +8H,0 + 34 ATP
(2) 6CO, +8H,0 + 38 ATP




(3) 6CO, +6H,0 + 38 ATP
(4) 6CO, +6H,0 + 34 ATP

1[Option ID=44773]
2[Option ID=44774]
3[Option ID=44775]
4[Option ID=44776]

Sl. No.52
QBID:1515048327

Meloidogyne incognita which causes stunting of gladiolus plants and their yellowing is :
(1) Root knot nematode

(2) Fungi

(3) Mycoplasma

(4) Bacteria

AgSITS S el o T Sarer gie & WA SR 99% 9 51 &1 SR &

(1) ¥ 7S FEHH

(2) ®aF

(3) g

(4) Sffarg

1[Option ID=44777]
2[Option ID=44778]
3[Option ID=44779]
4[Option ID=44780]

Sl. No.53
QBID:1515048328

Eriosoma lanigerum, Woolly aphid, is an important pest in which of the following?
(1) Tomato

(2) Carnation

(3) Apple

(4) Black pepper

e affoes, T TS 1@ 5 § e g Aeagy Hal &
(1) THEX

(2) FHE=

(3) &g

(4) it ford

1[Option ID=44781]

2[Option ID=44782]

3[Option ID=44783]
4[Option ID=44784]

Sl. No.54
QBID:1515048329

According to the botanical classification cashew belongs to which family among the following:
(1) Lauraceae

(2) Apiaceae

(3) Caricaceae

(4) Anacardiaceae

S TE & MR W S, 5 § 9 frw o #F o 2
(1) e

(2) g

(3) FiEd

(4) TS

1[Option ID=44785]

2[Option ID=44786]

3[Option ID=44787]
4[Option ID=44788]

Sl. No.55
QBID:1515048330

Which among the following is an edible poded variety of garden peas of dual purpose?
(1) Kashi Mukti

(2) Bonneville

(3) Arka Apoorva

(4) Palam Priya

T8 € H-9 Gosm & arar 7eX $1 SHae Bl B B




(1) =l
(2) Srifaeh

(3) TI gt
(4) rem i

1[Option ID=44793]
2[Option ID=44794]
3[Option ID=44795]
4[Option ID=44796]

Sl. No.56
QBID:1515048331

Which of the following is responsible for rooting of semi hardwood cuttings of Hibiscus?
(1) Benzyl adenine

(2) Ethylene

(3) Ascorbic acid

(4) Indole Butyric Acid

T @ w1 Rfied & o $aR tedl T #1 gudfd & g Sk 2

(1) s gie

(2) s

(3) TEIa® 3w

(4) T SEERS 3w

1[Option ID=44797]
2[Option ID=44798]
3[Option ID=44799]
4[Option ID=44800]

Sl. No.57
QBID:1515048332

Where is the Central Institute of Arid Horticulture located?
(1) New Delhi

(2) Bikaner

(3) Lucknow

(4) Jodhpur

[ SFEH! 31 P SRIF Bl fd 7
(1) =5 faed

(2) SR

(3) TEIEH

(4) TR

1[Option ID=44801]

2[Option ID=44802]

3[Option ID=44803]
4[Option ID=44804]

Sl. No.58
QBID:1515048333

Match List T with List IT

LISTI LISTII
A. |Pear I. |Rose scented
B. |Potmegranate II. |Bartlett
C. |Litchi III. |Anab-e-shahi
D. |Grape IV. |Bedana

Choose the correct answer from the options given below:
(1) A-I B-II, C-III. D-IV
(2) A-IL. B-IV. C-1. D-III
(3) A-IV, B-III C-II, D-1
(4) A-IV, B-I. C-II. D-III



T 1 & =Y G 11 &1 e S|

1A -1

A TR L. o Ty

B. ¥AR 1. sde

C. ¥ III. TS S =Ml
D. 3R IV. S

=t 13U U fgsed § § 981 ST &1 90 S|
(1) A-L B-II, C-II D-IV

(2) A-II B-IV, C-1, D-III

(3) A-IV, B-111, C-II, D-I

(4) A-IV, B-1. C-II, D-III

1[Option ID=44805]

2[Option ID=44806]

3[Option ID=44807]
4[Option ID=44808]

Sl. No.59
QBID:1515048334

Late Blight is an important disease of potato.

A. Phytophthora is the causal organism of Late Blight in potato.
B. Kufii Chipsona is resistant to late blight in the plants.

C. Late Blight is a viral disease of potato.

D. Disease free seed should be planted.

Choose the correct answer from the options given below:

(1) A.B. and C only
(2) B.C.andD only
(3) A.BandD only
(4) A. CandD only

1 1 faaeya <fiofar oo el I 2|

A. BIEAIdRT aq ¥ fareifaa i & forg Swrerdt 71
B. %! U1 9dd ¥ [daftad Siar &l s gl
c. fqaftaa fiofar smg fGumeta |
D. Y il ST 16U

4 U U faeedi 7 9 el SR &1 99+ S|

(1) FAA, B3R C

(2) B, C D

(3) FWAA. B IR D

(4) A, CIRD

1[Option ID=44809]
2[Option ID=44810]
3[Option ID=44811]
4[Option ID=44812]

Sl. No.60
QBID:1515048335

Given below are two statements:

Statement I: Apomixis 1s an asexual reproductive process that does not involve nuclear or cellular fusion.
Statement II: Embryo may develop from an unfertilized egg cell or another cell within the embryo sac.
In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement II are true.

(2) Both Statement I and Statement II are false.

(3) Statement I is true but Statement I is false.

(4) Statement I is false but Statement II is true.

2 G Fa g M B

FYA 1+ T UH A Yo & o Gfeaae dR i@y e § wmita 7 el &

FYF 11 : YT Yo S oS St a1 o Siftre § fasfad g 21

SR FYA & @S, A 37 T TFe § § 999 Suged S &1 994 Sl

(1) By AR EHi T8 &
(2) FUF1 AR 11 <Hf 7Ted &
(3) Al wE s e s I e &



4 FFI O AT A TS

1[Option ID=44813]
2[Option ID=44814]
3[Option ID=44815]
4[Option ID=44816]

Sl. No.61
QBID:1515048336

Given below are two statements:

Statement I: Auxins are a group of plant bio-regulators which are primarily responsible for ripening of fruits.
Statement II: Fruits are basically of two types on the basis of ripening: climacteric and non climacteric.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement I are incorrect.
(3) Statement I is correct but Statement II is incorrect,
(4) Statement I is incorrect but Statement IT is correct.

2 S wyA e M B
FU | - e 9 Safare T § 1 wufte ©9 9 B B tee 5 (Y SWed! 5 8
FUF 1 : 75 F YR T 0 T200: & TER & o o TEHRING AR AFsiae e

I BYA & SaiS H, " 37 77 TFed! § § 9a9 ugsd T &1 984 Sl
(1) T RIS T 2

(2) FyA ] R 11 g Toa

(3) T 1R, AT A [ e &

4) REI AL AT A

1[Option ID=44817]
2[Option ID=44818]
3[Option ID=44819]
4[Option ID=44820]

Sl. No.62
QBID:1515048337

Micropropagation is an efficient alternative method of vegetative propagation since:
True-to-type plants are produced.

B. Multiplication of disease and virus free plants is possible.

C. Round-the-year production of plants is not possible.

D. Rare and endangered varieties can be conserved.

E. Cost of production and infrastructure cost in very low

Choose the correct answer from the options given below:

(1) A BandE
(2) B.CandD
3) A BandD
(4)



A . CandE

geavad @1 vade &1 3faa faee fafy 2

A, TEF TR & 9 W B 2

B. I iR faung § fgad dieh & 70 $1 SvrE
C. HiEl &1 | SegH T4T 81 2

D. gy &k Hegm e wifia s 99 2
E. Sded & $i9q 3R fafmin $ina sga s91

=9 fou e Redf ¥ € 95 o @ 999 S
(1) AABTE

(2) B.C3D

3) A.BTD

(4) A,CTE

1[Option ID=44821]

2[Option ID=44822]

3[Option ID=44823]
4[Option ID=44824]

Sl. No.63
QBID:1515048338

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Rejuvenation is an effective technology for improving productivity of unproductive orchards.
Reason R: Rejuvenation does not benefit trees affected by disease, heart rot and cold injury.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is not the correct explanation of A.
(3) A is true but R is false.

(4) A is false but R is true.

2 <1 7o Ru T 8, tF T (Assertion A) F =9 # &9 8 o1 g9 9% $RU (Reason R) F =0 H
HfYFEYT A: FEIEI0 IS 1 &1 Id1e4 924 F [0 06 uqidl d&4i= 2l

RO R: TH0 U5 7 SR, o 99 SR Tt 3ol & IYE § aEES TRl el Bl

IWIEd FUH & HaS 8, 74 oy 0 Geedt § ¥ 999 Sugad S &1 997 Sl




(1) A JRREH 981 SRR, A 31 961 s &
(2) A JRREH 98§ SRR, A $1 WEl oo 7 8
(3) AR ¢ of R Wt 78f &

4 Avd Tt e R wE R

1[Option ID=44825]
2[Option ID=44826]
3[Option ID=44827]
4[Option ID=44828]

Sl. No.64
QBID:1515048339

Biting and Chewing type of mouth parts are present in:
(1) Grasshopper

(2) Housefly

(3) Bug

(4) Moth

T SR udu ISR &1 §E YR Suld BT 2

(1) g

(2) =g Al

(3) TEAw

(4) #ma

1[Option ID=44829]
2[Option ID=44830]
3[Option ID=44831]
4[Option ID=44832]

Sl. No.65
QBID:1515048340

National Centre for Integrated Pest Management (NCIPM) is located at:
(1) Lucknow

(2) Coimbatore

(3) Hyderabad

(4) New Delhi

TP FEE FAERE A WE vewE (NCIPM) F6 fua 22

(1) @5T%

(2) ®IH

(3) gTe

(4) 73 el

1[Option ID=44837]
2[Option ID=44838]
3[Option ID=44839]
4[Option ID=44840]

Sl. No.66
QBID:1515048341

Primitive living winged insects belonging to the order:
(1) Ephemeroptera and Odonata

(2) Lepidoptera and Trichoptera

(3) Orthoptera and Dictyoptera

(4) Thysanoptera and Hemiptera

e Sifad Teged s fem Iuft § o &

(1) TRFERIBY SR ffsa

(2) TSR IR TP

(3) siriipw S fEfEna

(4) UISEAIRN SR Bfp=

1[Option ID=44841]
2[Option ID=44842]
3[Option ID=44843]
4[Option ID=44844]

Sl. No.67
QBID:1515048342

In which part of insect body. Johnston’s organs are present?

(1) Legs




(2) Antennae

(3) Thorax

(4) Abdomen

P F TR & BHE-9 YT H oiie 7 Sufdd g 27
1) ®)

(2) = e

(3) T4

(4) Ga¥

1[Option ID=44845]

2[Option ID=44846]

3[Option ID=44847]
4[Option ID=44848]

Sl. No.68
QBID:1515048343

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Filter chamber is not found in aphid.

Reason R: Filter chamber is aphid allows excess water to pass directly from anterior part of the stomach to the mtestine by diffusion.
In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both A and R are correct and R is the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R is not correct.
(4) A is not correct but R is correct.

2 & o fau Tu R we Sf¥EY (Assertion A) ¥ w9 # Rif@d A gUU 59 RU (Reason R) F ¥4 H
Y A: Uftes & FrefeT sy T8 9= o 2

SR R: Tipe § feied o ofis o &1 TR0 S R Ue & rale Y & ofd § Sl vam s 21

TR HYA & e H, " 137 T TFeai #§ § 969 Jugsd ) &1 994 S|

(1) AFRREF T T IRR, A 71 T mEm &
(2) A 9IRREH 981 & iR R, A 91 &l ourem 78 3
(3) ATEIZ AR T TE 2

4 Avd Tt e R EE R

1[Option ID=44849]
2[Option ID=44850]
3[Option ID=44851]
4[Option ID=44852]

Sl. No.69
QBID:1515048344

Common polyphagus crop pests are:

A.  Desert locust, Sehistocerca gregaria (Forskal)

B. Brinjal shoot and fruit borer, Hencinodes orbonates guinee
C. Cotton bollworm, Helicoverpa armigera (Hubner)

D. Potato tuber moth, Phthorimaea operculilla (Zeller)

E. Red hairy caterpillar, Amsacta moorei (Butler)

Choose the correct answer from the options given below:

(1) B.Cand D
(2) A.Cand E
3) C.Dand E
(4) A,BandD
T el e ueE 2l
A, AeRpEl fegl Rera® fremian (Forskal)
B. 59 W R 50 94F GUHISH Al¥-ed oo

C. & iy &1 st fmadl s (I-iubnce)
D. Tre SR A1, TR FREE (Zellec)

E. o1 ST qreil geail, TRl 5 (Butlec)
= four u et § @ 9 o =1 9w S
(1) B.C#RD
(2) A, C3RE
(3) C,DRE
(4) A.BRD

1[Option ID=44853]
2[Option ID=44854]



3[Option ID=44855]
4[Option ID=44856]

Sl. No.70
QBID:1515048345

Given below are two statements:

Statement I: Caddis flies belonging to order Trichoptera
Statement II: Fruit flies do not belonging to order Diptera

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement II are true.

(2) Both Statement I and Statement II are false.

(3) Statement I is true but Statement II is false.

(4) Statement I is false but Statement II is true.

R euE R

YT 1 ; BieT madi Tssipw 4uf # e 21

FA 11 : T aa! S1g St & 87 o 2

JWIF FYF & A 4, 1 AU 0 el # 9 981 9™ F1 954 S|

(1) FFEI IR A Ta
(2) w1 AR 11 3 3 &
(3) U1 9 & A &y 11 e &
4) T AL AET s I Ta s

1[Option ID=44857]
2[Option ID=44858]
3[Option ID=44859]
4[Option ID=44860]

Sl. No.71
QBID:1515048346

Plant origin insecticides are:

A.  Nicotine

B. Arsenicals

C. Pyrethrum

D. Phosphamidon

E. Rotinone

Choose the correct answer from the options given below:

(1) A. Band C only
(2) B.D and E only
(3) A. C and E only
(4) C.D and E only
il § Fedfer aren FemE B

A ==
B. @
C. grsdiym
D. BIERIFFA
E. ¥EHH

= oy T Beeal # 9 981 ST &1 994 S|
(1) FTA, BRC
(2) F@ B, D JRE
(3) HTAA. C 3R E
(4) FAC,DIRE

1[Option ID=44861]
2[Option ID=44862]
3[Option ID=44863]
4[Option ID=44864]

Sl. No.72
QBID:1515048347

Sorghum crop is commonly attacked by:
A.  Sorghum stem bour

B. White Ants (Termite)

C. Wheat Armyworm

D. Sorghum shoot fly

E. Sorghum Earhead Gall Midge

Choose the correct answer from the options given below:
(1) A, CandD only
(2) A.D and E only




(3) B. C and D only
(4) C,D and E only
TNEH Bod 6w es gN IHMadl STHAT il o7

A. 9EH T §5%

B. uthe fadl Eias)

C. g smifard

D. S9H T ARST IS

E. 9R9¥ s3Es e fijew

1 fau Ty Awedl # 9 951 ST &1 999 Sl
(1) A.C3¥RD
(2) ADIRE
(3) B.C3RD
(4) C.DRE

1[Option ID=44865]
2[Option ID=44866]
3[Option ID=44867]
4[Option ID=44868]

Sl. No.73
QBID:1515048348

Match List T with List 1T

List -1 List - IT
A Larvae burrow into the apple fruits I
and feed on the pulp '
];.uitq Pink Colour encrustation on apple . Rl e pakil

€ Ashy coat on apple stem with il Akt o
galled root

D. Circular bore hole on apple stem IV. Codling moth

San Jose Scale

Choose the correct answer from the options given below:
(1) A-IV, B-1. C-II, D-III
(2) A-II B-1V, C-I D-II
(3) A-L B-III, C-IV, D-II
(4) A-II, B-IV, C-III, D-I

A 1 & Y 3l 11 #1 Hae S

- I

A. T 99 B A feg @ Tl W 99 o 2l 1. ¥ o W
B. 99 %@ W AT T &1 qierd I1. gféuwe uiths
C. 99 % o5 W ¥ 9 & 91y eSO 111 9 ol 9%
D. ¥4 & 4 W FY fg Sys IV. SifegT Hy

19 feu Ty AEcdl # § 951 ST &1 994 Siug|
(1) A-IV, B-I. C-II. D-III

(2) A-III, B-IV, C-I. D-II

(3) A-I, B-III. C-IV, D-II

(4) A-II, B-IV, C-IIL, D-1

1[Option ID=44869]

2[Option ID=44870]

3[Option ID=44871]
4[Option ID=44872]

Sl. No.74
QBID:1515048349

The first Indian Cooperative Societies Act was passed in the year:
(1) 1901

(2) 1904

(3) 1919

(4) 1920

T UG Seen St afufos g of & ot gar ur




(1) 1901
(2) 1904
(3) 1919
(4) 1920
1[Option ID=44873]
2[Option ID=44874]

3[Option ID=44875]
4[Option ID=44876]

Sl. No.75
QBID:1515048350

Classical production function, the point where elasticity of production remains zero is at:
(1) APP =MPP

(2) MPP > APP

(3) APP > MPP

(4) APP=TPP

TRATg 3d1e Had |, 98 g vl Idie- &1 9F S0 B 8, 98 ®al aldl a7
(1) App=MPP

(2) MPP > APP

(3) APP = MPP

(4) APP=TPP

1[Option ID=44881]

2[Option ID=44882]

3[Option ID=44883]
4[Option ID=44884]

Sl. No.76
QBID:1515048351

Which of the following represents comprehensive cost of cultivation?
(1) Cost Al

(2) Cost A2

(3) CostB

(4) CostC

g & 8 319 @ foxga Y ava & gufar £ 7
(1) TFId Al

(2) TR A2

(3) @WFE B

(4) @rEC

1[Option ID=44885]

2[Option ID=44886]

3[Option ID=44887]
4[Option ID=44888]

Sl. No.77
QBID:1515048352

Which of the following is correct?
(1) MC curve is a continuous falling curve

(2) AVC curve lies about ATC curve
(3) When MC curve is below ATC curve, ATC is falling

(4) When MC curve is above ATC curve ATC is falling
FeddsmarsuTagi g ?

(1) MC 9% TR 59AE 3% & |

(2) AVC 3%, ATC 3% 94 SR G ¢ |

(3) ATC &M 51aT & 5 MC &% ATC 9% § 1491 g & |
(4) ATC 5T &1 & 98 MC 3% ATC 9% 9 3 &Il 2 |

1[Option ID=44889]
2[Option ID=44890]
3[Option ID=44891]
4[Option ID=44892]

Sl. No.78
QBID:1515048353

A molecule causing plant disease having spiral or helical structure and culturable on artificial nutrient medium is associated with:
(1) Xanthomonas

(2) Xylella

(3) Spiroplasma

(4) Spirochete



TF A 1 {5 it F I 31 PR &, ffa o SR HeR F1 2, T oWFiie AEH IR S W 96T 6, T o
(1) FigET

(2) wEaE

(3) TmIgRTE

(4) =SS

1[Option ID=44893]
2[Option ID=44894]
3[Option ID=44895]
4[Option ID=44896]

Sl. No.79
QBID:1515048354

Which systemic fungicide is used as seed treatment to control loose smut disease of wheat?
(1) Thiabendazole

(2) Carboxin

(3) Metalaxyl

(4) Triadimefon

g & WY &5 A7 B AHYTH & [T a9 IR &1 axe [H9 walh sam-it &1 SuanT fear S g 2
(1) yrTEsa

(2) T

(3) fHemEaa

(4) TSR

1[Option ID=44897]
2[Option ID=44898]
3[Option ID=44899]
4[Option ID=44900]

Sl. No.80
QBID:1515048355

Which of the following germs has colnocytic mycelum?
(1) Pythium

(2) Fusarium

(3) Alternaria

(4) Erysiphe

Troffad # 9§ 219 91 99 S9! Saea W@ & 7

(1) uEfEm

(2) v

(3) sffeceAte

(4) wRfEw!

1[Option ID=44901]
2[Option ID=44902]
3[Option ID=44903]
4[Option ID=44904]

Sl. No.81
QBID:1515048356

What should be the optimum temperature range for the growth of mesophillic bacteria?

(1) 5-10°C
(2) 25 —40°%C
(3) 45 -70°C

(4) 20-30°C

HEOTTRET WA ® 3ig & A rggaad ad qiEm #491 g 9 ?
(1) 5-10°C

(2) 25-40°C

(3) 45-70°C

(4) 20-30°C

1[Option ID=44905]

2[Option ID=44906]

3[Option ID=44907]
4[Option ID=44908]

Sl. No.82
QBID:1515048357



Given below are two statements:

Statement I: Berberis plant does not play any role in the perpetuation of Puccinia graminis. sp. tritici.
Statement II: Rust pathogens spread from plant to plant mostly by wind blown spores.

In the light of the above statements. choose the most appropriate answer from the options given below:
(1) Both Statement I and Statement IT are true.

(2) Both Statement I and Statement IT are false.

(3) Statement I is true but Statement IT is false.

(4) Statement I is false but Statement IT is true.

F g wyE Ry e &

FUA | : A di ofsafan dfafw w. geeta Rfess & e # Sk yfie 72 g |

HYA 11 - fosg v warereRt arg fea Sty g O § 9 F Saar g

TR BYF & i d, 7 3y g fgeedt # F w6t IR B =0 S

(1) AR S §a &

(2) SET AR H Fa §

(3) T T T AfFA FUT I o9 B

(4) B NTE AT A SO 2

1[Option ID=44909]
2[Option ID=44910]
3[Option ID=44911]
4[Option ID=44912]

Sl. No.83
QBID:1515048358

Green hair disease is associated to which of the following crops?
(1) Pear] Millet

(2) Sorghum

(3) Maize

(4) Pea

o 4 9 sha o 7 e reo S R £ 7
(1) =naAd

(2) ¥r=H

(3) HEHI

(4) HHX

1[Option ID=44913]

2[Option ID=44914]

3[Option ID=44915]
4[Option ID=44916]

Sl. No.84
QBID:1515048359

Which of the following is NOT associated to cause wilt disease i plants?
(1) Fusarium

(2) Streptomyces

(3) Ralstonia

(4) Vericillium

Frafafea # 9 29 0l & et I § gmfa 78 22

(1) g

(2) BUMERE

(3) el

(4) oxHiferan

1[Option ID=44917]
2[Option ID=44918]
3[Option ID=44919]
4[Option ID=44920]

Sl. No.85
QBID:1515048360

What type of symptoms are associated to the mechanism of growth disruption of the plants?

A. Dwarfing
B. Rots

C. Etiolation
D. Hypoplaria
E. Wilt

Choose the correct answer from the options given below:
(1) A. Band C only



(2) B. Cand D only
(3) A.D and E only
(4) A, CandD only

Tielf &t gl § oges &1 fha1 B 8 92 gu ay 59 veR & 20 2
A, FHTH
B. foeH

C. gig¥an

D. sagi&

E. =i

= feu U Beedl § § 98l 99 ®1 994 Silou:
(1) Fa@ A BaC

(2) $@@B. C3D

(3) H@WA . DTE

(4) FTA, CID

1[Option ID=44925]
2[Option ID=44926]
3[Option ID=44927]
4[Option ID=44928]

Sl. No.86
QBID:1515048361

Match List I with List IT

List -1 List - 11
% N i erinat I Firstto observe
microorganisms

II. Discovered bacterial disease

B. Antonyvan Leeuwenhoek

of plants

C. Robert Koch ]I_]. Confirmed finding of first
virus

D. T.J. Burrill IV. Koch’s postulates

Choose the correct answer from the options given below:
(1) A-L B-II C-IIL D-IV
(2) A-II, B-III, C-IV D-1
(3) A-IIL B-I, C-IV, D-II
(4) A-III, B-IV, C-I, D-TI

T 1 & Y g 11 o1 e S

Gl bl I

A. TH. So, 35uE 1. 950 IR Y&Huig g@q aral
B. THl 9 @a-g® 11. delt & witaTo] TFT Wi aren
C. Uee #19 I11. uge faum 1 g g
D. &F wfwm IV. 19 ¥ grgaed (e

1 feu T Aeedl § § 951 SR &1 994 i
(1) A-L B-II, C-III, D-IV

(2) A-II. B-III. C-IV. D-I

(3) A-II, B-L C-IV, D-II

(4) A-IIIL B-IV, C-1. D-II

1[Option ID=44929]

2[Option ID=44930]

3[Option ID=44931]
4[Option ID=44932]

Sl. No.87
QBID:1515048362

Which of the following is not a seeding machinery?
(1) Country plough with pora

(2) Zero-till-drill

(3) The animal-drawn dufan

(4) Mouldbordplough

T ¥ B g aNE 8 87




(1) EEeH 9N ENI ST
(2) F [ T
(3) wg @FE g
(4) ToaE ¥ o

1[Option ID=44933]
2[Option ID=44934]
3[Option ID=44935]
4[Option ID=44936]

Sl. No.88
QBID:1515048363

Among the following crops, which has the highest mechanization index?
(1) Sugarcane

(2) Rice

(3) Wheat

(4) Groundnut

T O B9 BT & O S=ad JHE JEeiE WEd 6 |
(1) &

(2) =@d

@) T

(4) g

1[Option ID=44937]

2[Option ID=44938]

3[Option ID=44939]
4[Option ID=44940]

Sl. No.89
QBID:1515048364

Which of the following tillage equipments. is a secondary tillage equipment?
(1) Mouldboard plough

(2) Country plough

(3) Rotavator

(4) Cultivator

T 9 B 9 s SUS fedioE A Ul & |

(1) o ¥ T

(2) 7= | 9o

(3) 3% |l

(4) M g

1[Option ID=44941]
2[Option ID=44942]
3[Option ID=44943]
4[Option ID=44944]

Sl. No.90
QBID:1515048365

What will be the error degree of freedom for testing 5 varieties of wheat in Latin Square Design?
1 12

(2) 8

(3) 4

4) 10

e 7 foomea # 7 21 5 vt & adiem & fog sadE 91 SR A 3R o it site wiem FwErh 2
(1) 12

(2) 8

3) 4

(4) 10

1[Option ID=44945]

2[Option ID=44946]

3[Option ID=44947]
4[Option ID=44948]

Sl. No.91
QBID:1515048366

If the yield of paddy from different fields are 6.0. 4.9, 6.0, 5.8, 6.2, 6.0, 6.3, 4.8, 6.0, 5.7 and 6.0 tonnes per hectare, the modal value is
tons per hectare.

(1) 6.2




(2) 5.8
(3) 6.3
(4) 6.0

afe o= =1 9o &fE 87 9 6.0, 4.9. 6.0, 5.8. 6.2, 6.0. 6.3, 4.8. 6.0, 5.7 3R 6.0 T RW ¢ | O §ga® $1 A4 @isd AF)

H A |
1) 6.2
(2) 5.8
(3) 6.3
(4) 6.0
1[Option ID=44949]
2[Option ID=44950]

3[Option ID=44951]
4[Option ID=44952]

Sl. No.92
QBID:1515048367

Match List I with List IT

List I List II

A Training and visit program I 1979

B National Extension Service . 1964
€: Intensive Agricultural Area Programme  III. 1974
D Labs to Land Programme V. 1953

Choose the correct answer from the options given below:
(1) A-I B-IL C-IV, D-III

(2) A-II B-1V, C-I D-II

(3) A-IIL, B-IL, C-IV, D-I

(4) A-II B-I, C-III, D-IV

T 1 & Y g 11 T e Sifg

Tl T
A, uiemn R a1 SEHA 1. 1979
B. Uy R g 11. 1964
C. T84 318 83 s1HA III. 1974
D. VErETe § Yy O FEHA IV. 1953

= 13U U Fed § § FEl ST H1 90 B
(1) A-II B-IL C-IV, D-III

(2) AL B-IV, C-II, D-I

(3) A-L B-1I, C-IV, D-I

(4) A-II B-I, C-II. D-IV

1[Option ID=44953]

2[Option ID=44954]

3[Option ID=44955]
4[Option ID=44956]

Sl. No.93
QBID:1515048368

ITK stands for:
(1) Indian Traditional Knowledge

(2) Indigenous Truth Knowledge

(3) Indigenous Technical Knowledge
(4) Indian Technological Knowledge
ITK GEdF) ST @@ Am 8 2

(1) Efaa efeemm Aids

(2) Sf5ui=E v A

(3) If5eia e Al

(4) SfEgA Sfoaa Arad

1[Option ID=44957]
2[Option ID=44958]
3[Option ID=44959]
4[Option ID=44960]




Sl. No.94
QBID:1515048369

Given below are two statements:

Statement I: Kisan Call Centers are providing agricultural advice and information to the farmers across the country using toll free
telephone numbers +1800-180-1551".

Statement IT: Kisan Call Centre was launched in the year 2008.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are true.

(2) Both Statement I and Statement IT are false.

(3) Statement I is true but Statement IT is false.

(4) Statement I is false but Statement IT is true.

fRaERymeE

HYA 1 - T sia S o 1 efmE 6 - 1800-180-1551 SUAHT & Aiegd & xR # o &1 5t 9ok ik @@ ier st @ ¢ |
FuA 11 : fram =i < &1 o 2008 & yRe o mar a1 |

TR &Y & S H, A 3T U e § ¥ 951 9w &1 904 S
(1) T AR SFf T

(2) T AR SHl o 7

(3) TH] e WfEA dUA 11 9d &

(4) A FTE A=A SO

1[Option ID=44961]
2[Option ID=44962]
3[Option ID=44963]
4[Option ID=44964]

Sl. No.95
QBID:1515048370

Match List T with List 1T

ListI List I

A Innovators I. Skeptical

B Early Majority II. Traditional

& Late Majority III.  Deliberate
D Laggards IV. Venturesome

Choose the correct answer from the options given below:
(1) A-IL B-IIL C-IV, D-I
(2) A-IL B-I, C-IIl D-IV
3) A-IV, B-III. C-L. D-II
(4) A-1V, B-1, C-III. D-IT

T 1 & = g 11 71 Aem Sl

T T I

A, FarEd 1. ZiERTE

B. WRfEm@ sgrd 11, TR=IfE

C. & F5gma 111. gt @fee
D. fws1 gan ©Riss) V. Wefie

R fou T fGwedl & € W61 SR &1 994 S
(1) A-IL. B-III, C-IV. D-I

(2) A-II. B-I, C-III, D-IV

(3) A-IV, B-III. C-I. D-IT

(4) A-IV, B-I. C-III. D-IT

1[Option ID=44969]

2[Option ID=44970]

3[Option ID=44971]
4[Option ID=44972]

Sl. No.96
QBID:1515048371

Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Personal localite channels are local leaders and local people who belong to receivers own social system.
Reason R: Extension agents are personal cosmopolite channels and are from outside the social system of the receiver.
In the light of the above statements. choose the most appropriate answer from the options given below:

(1)




Both A and R are true and R is the correct explanation of A.
(2) Both A and R are true but R is not the correct explanation of A.
(3) A is true but R is false.
(4) A is false but R is true.

=19 31 ®uF 3 0 & UF fiFYT (Assertion A) F w0 H fif¥d § O GO0 996 SRU (Reason R) F 9 H

ity A : ofegg w9 ¥ = Fer e Ta SR S s el & 3 e g B g oo ¥ e e
FRUR ; TR sl ofeame =0 @ femiin (@ Enese) & SN Taedl #1 aHiee e F R e § |

UG &Y & Ha® 8, A 6 T @ § § 951 908 @1 994 Sid:

(1) AFRREF T@E IRR. A F1 9 TN ®

(2) A 9R R i 9@ & e R, A #1981 oo 98
(3) ATUR AR TR

(4) AEaE AfFTRIEE

1[Option ID=44973]
2[Option ID=44974]
3[Option ID=44975]
4[Option ID=44976]

Sl. No.97
QBID:1515048372

Accepted ways of behaviour in society are:
(1) Folkways

(2) Conventions

(3) Taboos

(4) Rituals

T # IOER & wWied ade &
1) ol

(2) ufrd

(3) e

(@) ety

1[Option ID=44977]

2[Option ID=44978]

3[Option ID=44979]
4[Option ID=44980]

Sl. No.98
QBID:1515048373

What is the ideal size of flash card preferred for a small group of 10-25 people?
(1) 6" x 10" size

(2) 10" x 127 size

(3) 157 x 207 size

(4) 247 x 327 size

10-25 e & Uhey 9 & [T WY B16 & 9 ey AHR HI awelg of ot & 7
(1) 6"x107 3M*R

(2) 107%127 3eR

(3) 157%207 3MeR

(4) 247327 MER

1[Option ID=44981]

2[Option ID=44982]

3[Option ID=44983]
4[Option ID=44984]

Sl. No.99
QBID:1515048374

The process of conversion of the subject matter into symbols is termed as:
(1) Transmission

(2) Encoding

(3) Decoding

(4) Treatment

fawg wmEl #1 weliet | wuew 31 v @ fFe s d e e g 2

(1) HERO

(2) TEgg B

(3) foged

(4) ST (Giede)

1[Option ID=44985]



2[Option ID=44986]
3[Option ID=44987]
4[Option ID=44988]

Sl. No.100
QBID:1515048375

The process of collecting and analyzing information from field and secondary sources in a short period of time is:
(1) Participatory Rural Appraisal

(2) Rapid Rural Appraisal

(3) Participatory Technology Development

(4) Rapid Social Analysis.
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1[Option ID=44989]

2[Option ID=44990]

3[Option ID=44991]
4[Option ID=44992]




